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i oo 3= = 0 R i 1kl L L W
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Ex-q 9§ BCX3= sckantoc Enen find £y
cont gc_-ydsa o kan '

ey = d ?(_'I,) 9— @cb:u'\"‘x.) e d \:an"ﬁc.-\- tan“"L':LQq

—y Ry = 5% Ve
= 2C* \,,:: —\-'\:G‘\ o a0
— -4 = L. T (ANS

EX-10 wind é‘,‘)_ tg 4= staal
So: y = cinnd = 4 = & feian®) = cona’ d @) by chein Rule

— Connt RAT = A Corv,

+ Loa(\;cm'u.‘)
sof 4 Loactan‘x_\ 'll:q._-xg"ﬁ‘xm'u.} Sect = CosW |
ax nwn {:un SN Conn
59 ConL ASTn CosU SN = Acosecanl.
Ex-12  gp 4 = tan™'(Secattana) then find dY
a = kan™! ( SQC-'H-.-\'ECLT]'L) = kan™ ( 1 -+ Si%
Cos
|+ Si Eort
= ten™ ((—ESDL m;‘_" ban™ (L8723 087 % 4 ain2 o % +a. Cos % sin %
) Lﬂ-&q r-!h —SH‘F 1._ )
= tan | (o5 % +Sin%y?
Cos
Lc.og. f—“—i--i-!-"m %)(wb%_ Sin %-) ] = Ltan™! M
Con :1:% = Sink
baq“l | == kan % Diviar = 2
_ 2 v
T Lan o ‘viding pQ
=9

ansd DT by cog w,
B -

kan=! | tan T -rban 2
| — l:ct\"l{l‘:.\:an"_&

—

tan™ Eﬂ.h(%'&"%)]: lT--—\-'\L.
qT .
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Now dy _ é—%):i(ﬂ.-\-%}:é—@(\‘\‘ﬂ—- [%\ 13

A\ AM AN " AN Aal e
= 0% _%5: .i\Lqu = o+-k>k\ = jﬁ_ (hns)
3 9t w= \—Covw. |
4 et CTen Rine C\-—?ﬁ'
So\n: 9= \—~ Cobve d\—(‘.nb@?'-'%-) _ ‘ 15“\1 LM'T
\i T*Cosne — e Cos @A) - &Coba—:i
e

= \E\:&na“%] = \:MP}:’)

Now a8 &
aAx ~ 3% tan (%) = sed \:r) X a) bY chain Rule

= sed(%). _L A_. »
(3 &> = %ed (%_‘)x—\i- 2% R — < Sec:"e,llf.)
W) 3% 3= {‘H\-\r Saw - {1 Cosan] Ehen £ind 4y
\—Coham, T
N dac
Saolll; \a-_—_ \j \Fainaw + YV \Cosanc
\—Conanc.
{:m A Co? ja SR smsr_cnyx. + __Q&oios__
Asrnroc.
\[Lsmsc_-\-c::wc)"‘ + VA Cosac
T omy & ‘5\“3&+C05’L+—1—~ o |
| va h oy
= SinwyCorw —h— (Cot: Cosec) 3

Nouc_:lg_g___i

Ax @) = —é— { Sin o
Ax A oS "\ri CokaL C-°BEC,'1L,§

k= - G0 Q— sy "L- —d— . (Qotat corec )
W

—

= (obm_— S\ﬂ‘\k—\'..l_s\c_oh.\t Q,

Coseca
A *Co&ec.xé_
cota
= Coxnv —sinaL L
N 5\, COML: (= Coseent ok A
'\k)—\_ LO:\Q_LGJ\ (~

co S
bW~ \T\’}L."\'q-\zy.\ CO*:'}L\_COB&C_Q:_ C-OSQC,:Q.%

OBy _— S
CoBa—ainn — = Covecnl ( (ot

— COLM — S\ny — Cosecnr

A2
e 9 ¢ ~ VN C coy ’1-‘\‘C05ac_’“\L) (Ams)
3= A tan W&.
ac then Feng Ay

\A] —
22 Y= bap \P"\ A S
\ - 9
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W

-1 ’\—CU’:'J.S _ ) EX
kan 4 Connd PU-L W= Cosne #9260 = Coqg 11

= 2 o= -éfCog‘gc,.
- \' A -\ _ N
tan 2. ® ton m{'é = kan (,\:cu\@)_—_@ - %2:005-‘1

1

ad _ 4 = A (Lo -\, -
= ST A ey =Ardojogay = Lo -

V=
—l— (AD®
v\ - 5
lb: 8% 4 = (ev2+al-—~1) then Rind Ay
AT
soy 4= @13—\—&0:?'-%*“)5

g
A\ X 4%

—

}

& ren— AU
- g arPyad-x) {35 Ax Tax T ax

Lo~ C 3 %2302 +A*2X—1—0)

3
s 3¢
= EC \\)L‘CG.I?'-E'HI-"\) Q\-ﬁs)

2 o
= 5(313"‘9'1"":'&

9
_-_'_J
a %
: ‘o (T
P 4= SQﬂ‘ﬁ? — S\ﬁ(_‘)ﬁﬂ&bj = sS\n\t=—=

9. 9F 4= cin2e then £ind d

<0 L0
. _ o\ xa (TX
33 _ ad_&_’gyz ._dd—ism%ﬁ__. Co%@’——mo)&dl(n;m
4 °C
— ). T .14 - T o’ (BNS)
— C_,DbCE-:-C-’ %%D--g\.—émD o @5%) 130 1 o co=
— (g0

\ { a
18- 37 4= sm[_cosc_sm'x_ﬂ then €ind 'aj&-_'
cof Y= 5&_n[¢obcsin'3‘~)j

\ d. 3
8 \ XS con(sink)
d d 5in[cpbcsimf-‘>] — cos[ Ccob (SN S

g _ d_
ax,” e* (loy chain Rule)

J cin (SN C‘\ %-m@\wx_) (by chain Rule)

_ con[concainx3) -{-

c_ostc_obc‘siﬂ'f-)j- sin(sin) - CodT (ANS)

e - Wes.t X
1q: Rind derzvakeve of LOaL et {a-b)
so; Let §= LogC —aA{x-b )
- &
we have to find ouk %?"Tx: !

ad, — O —a (-
AN oW S = %‘Etﬁ) = S= \_oa(j’-{‘a

ol — xgﬁ_um—a-\—mm by chain Rule.
~ ot

A {mw '\'é-*' X-b i
— | % { a |
= fEatEn {4 x
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| a
o IR @L—-a)—%—-—*—‘—‘"*——-@t-h)?
B ‘FI,-L'\."("{;\:))L { x—o oT alz-p 9%

([ Y L u—‘&
&. %.,'Lﬁ,——!"“ And by chein R )

- \p'e \
P

a.
\ ey o s,
=N =R R A R L @raX kb

a: 9f Y =ya_ then find 43

A (a-

1'1_-—-@_"\‘{ x—b

3’
So" Y= Loy J{L
dy _ a ~ Al ok o LadF L R LA
ax =S80 = F ) 3 =g ¥ E
— \ aned

- av=>x
-t _3
al: Find dd.  pe @y Y= sinac @ W= Con s @i ta-;_Mz
n . (v3y=n 08 (V) 9= sincasrb) -
So\n. . .
: - dy . A .Sﬁ?d CCr NS T
@ yg= S S = S @) = 5z @nc) = 3EMY
dx.  ax ax
* 'c'?_m_@'m“’)

— 2 ein Y. COLIC (ANDD

. — A dy _. 4 Y —einaexd N
Qb “(3-— CObeC—'%T_.—__—COB‘J”— — A X
3 DBl .

— Sm:rf‘ RUYXT —= Yy ainat

1

4
ds _ d_ Yy =4 ? Fx
33 - g T = b= 3ea g o
— A (5A) x(aeto)
2
. a - x2 = AL
= Bz )73 E
\09 loga o
W) = a =4 3 g%
v 4 _Jﬂ—c\.x_ Tz A~ — Lo -%‘l@pam\
= U . lnarng = D;&}B ANS)

(V) 4= asinanrb) = dﬂ':)'; _____3{__ SinCascrio
a X

~ c by).d
O35 (G%-+-b) T @) = Cos(@ao). Ca 1+ o)
=  GaCcos@x-th) @ns).

Scanned with CamScanner



16
v£' DERIVATIVE OF PARAMETRIC RUNCTION:
-+ Some time the yaniable o A4  of o function O.RE expressed

by funckion OF anothen \aatabie ¥ which is catled a5 @ panameten-

Such type OF nepresentation of e functton &5 Called panamelmzc
foym:

3 Fof exomple equalion of Circle Zn panameknzc fomm Can be, qiven
by L =TCO,4= BA:NO, 0 TS @ Parameter-

5 9% fo= £, g=qatren [dy _~ dY/dt
' |dx ™ da/dt

SO OF T =" 2E. aed tany = 2k

YRS i then find 4y 3
saft Siow = By oz SR = sim (U2 | U b khane
vre e hame) o= Do
= 2 = Sinh\(_si“':\.@)':- 29 = Qtan-'t- -
dx _ d P =
= 9. [atant\= a4 —-\4\ = -
aE = ST = Agltenty) S anym = 2,
3 = -\ Ak —
Aot e = '%—‘-:@ = 3= tan™ () = tao ‘Lq!*ffai’-s)

5 A= tan™ (tanas) = 40 = QUan 't
dﬂ —_ - — —-L—' — et
'AT"%E@@” 'B) = AXEn T e

2
nNow dy . dd/ar L_\_-tﬁ) -
Jo ?oéﬁﬁ o = %
)
F° pDERIvVatZve 0f a FUNETION W Tk dnothen functions
To differentZate £09C) Wbt 9wy, Let Y= 80, Z = e

we have £0 find our 441 .'__di_: A 9/a 9
az  [|az ?Z/%L

Ex-23: Diffenentzate toant wx.k Ccoboc .
S0t Lek Y= banx and Z =<okoC - we hove ko €rnd out dy
aZ

%: %I{ba_n:x_) = sSectoC
'.?T%, = d,,_" (Lot W) = —coaec*ac
o dY .  a3d/gn Zectan 2
== = LD = ——= = = —Sec x-Syt
AZ dz/d4% — Cobec* K s
. B = 1, ey
= = g T = - X o _panee (s

(ﬂ ' DI‘:‘:ERENTLHTI.ON oFR LOG‘]“RI THMT_C_ AND ERPONENTEAL FUMCTION:

Er 24 a9 fenentiake S ane Y 'J(.ant\ W-s.b o
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Soft Lok Y= Sl ) ey "y we have ko find ouk dy #

sin S0
et w= Eina)t L N= o7 khen
A = marv=dy o du dv )
AN AN A
Now W= (@lany™
—_=> Lnw = Ln (g»iwm"“-_»? tal= 2 bn (Bin)
Lnw L Nl &
L ) = C\ {oc, nCen jf\
= . 4w . ‘ SN S
) = oc,.e\_. Ln\smnt.)-nrm (svn) d%@t_)
AN v _.\—- >« N LnCamnal) A
= J_ wws Ln (sin
= SLA g ARG & (s >
= A cokr - Ln@ina)
; A i
= c‘\ﬁui__ = uwl xcobx +in @T\‘\Qj = (stan) Elum_-\-m@,;m‘
—®) ™
ENL 2N
Now N= oC = lav = Ln ¢ = a{goc-Lhoc .
i — a + .
_? _;j_‘.i‘k\_wq') = -5_‘:-!‘_%\“1 Ln‘\L)
LON A =Y .
> ottt ;,T;LQ-“‘\)-*-mﬁc——-—gm Bina)

= 2NN AL+ Lancrcosm

5 oou = v [ B8 tnxcan]

A
SINnAL ¢
= AN SN ey ‘]
v E = - lnac cosn —A
Erom (2) 29— Au o av

W TOAN AaL
SUNW 2 4
= (@towy" | weobrr- anﬁmkﬂ TR [ S",:\"j Thnt tosy,

Ex-25. af 94 = \,Oam’{tb\n%) then Qing Ay =
sa\ . a = Loacab_’_@m%) A%

—

= Lo'a e b\f\tﬁ_) b Loa C.PB"‘L.e-

= Llog (in™n \ —
?H_L AR LOELQD?-"’“-)

Scanned with CamScanner




—  Lloa ([&inw 14
24 LA GINY) S 83 d | Loy, sin
LO‘BE\C.O&.'K’) o s (o C.n'b“l‘-b}
» Q

g L“&amz"‘\-'?\'&c Log (@lont) — L“‘Ae_?’\“'k Z-\Erlf(. Log [cos }
[ogetorny)*

- S W — ~¢
= Llogelosn) i omh — Log (sin) . o (- sinn)

[Lege cosa?
Lok wa&obm) 4+ kbana Low
T Do)t

26: 9% Y=o then Qind 4Y |
AW

L o
oM y= o ——O

o\
oL *x
Now a: ’x.?f- :9\.::«83:.\.0331,1‘ = gff'.\.o-agr_-

= Loy (Lay) = Loai :ri“:l.oax% = L°a‘3c'x“.\. Loy Clogac)
) Loﬂ LLoaH) — x-\_oagc_ -+ Loa LLDa:)C.._')

> Lo Lyleqsy = G2 {actegac +leglog "ﬁ@ma%ﬁ'ﬁ Loy (e )

d 49  _ LA .
=>;—\—3—L03LL033).;\_0E — xd\%mam—k-l_oamii{“_ -

1
Loam’xf;{gpa"'*)
- 1.4 . = SV U
) Lo qg(ujﬂ)% = e gkl L::a'\&.”g W
N .48 . T
e aLosj A = I\ L&a")k_—\- ’x,\oa'):.
= -—-—ii =  Ylogy [H-Lnaﬂﬁﬁ- W‘—
ot o
= . lo - ot
fx_% 3¢ [ 1 Logacn _L-—%-\oam
= A % \oam[l—\'loam-\. VS, — j
_ o - 'L\og'k
= X [ \Oawb\'LLnu"LY'..\. "L'j
1'7(- M.
: OL L]

e % [ -11—_ |- l.oax,(‘l—l-Ltﬁﬁ\)j Qna;\
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H! DERIVATIVE OF TMPLICLIT FUNCTIOA:

*The function of the foxm FULY)=0 0 whic Y camy be.

exprneased difteckly zn terms of ¢ 28 Called Zmplzcip
function. €xs X3+4l =95, ad=gX erc.
= To find d ' ' \
fin ¢ » Pifferentiate both sides of £CILY)=0 W5
and apply the fonmula. d ?C}_{‘)—d ?(_Ei) d%j |

Exa}: 9% X~y =0 then fingd dy
SoM YT o s oot = Yy ar

= Loa 3::3 — Loa (j".t. > j‘-oam"—”—x‘ﬂj’j'
"’>___
x(@1e33) = G (acroqy)

3 4.4 L031+L03x S8 = QQ-E-QOS‘;\)-\-\-Oj‘j ng ,

y ol L . A —
i S le E\.%: ) "a"‘-o‘ﬂ":\'@—l—-';-l_qj'j.\
= 2 .dy
TRV RO = xrdx %3——\—\-035

= Lajx-d_l — % .44 _ \q
= Logy —d
e %

= \Loax— X-\dY . o —
L ) 3= ‘eay—L
= Ylear—x dv _ —
Y AX X—————Loiv h{
-~ a
> 'cl’i'x = Xlay-—-y Y = Y %logy—y)
Pl ; YHlogx —™= X (Y Lloax —xy Ans).
HOME TAK

1:-Find denlivakine of fonowing Runckzon . 3k 2.
@ m,\_,\}_—\ W -2+ 3y) @1*\)(11 2)

GV (1+ asc*) cos (W) 4o chsc]
NE3
2. Find 44, e 4y y=
NS S 2F ) 8= Cosec(an®yay Wy y= tan*x#mnu‘

W 9= sectocrbariion (4 = 8407 Cane fiseay
) Y= tan 3*-:5_ (V1) Y= SOV C oy —ymd S\ )
] X4ty Ay Y= cost| 2

VA Y = tan™ k\— r\ r't;z_.)
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. q'_i- I‘ 80
(1x) \d;—_ o (X)) fj:"“ LoacLoam),@k\)j = ll@&zrﬂ (;i\\)_‘j:“. x.slnr

A Y= xFeteinae  &iv) 4= ton [ cose = -2y
d Qi) Y= ban™ (EO8% Y (V) Y= ConC1-2)

3 9% Y= Cos(snx*) then £ind du g
\ B\J&_ ak =Ry

W Find Avffertential co-ebkiclent of oo Loacf_. ainac .

5) Find 34 2 4y Yy kant [A%b : A rTYed
A ) M Yi= tan™ L ™
A . o m—\—&) 3 | \=-Cos 2L
(D 4= \P:‘”m = (V) A= cotdr—y - .
\(j \r 3inge. a m ) ‘a = ﬂn%-(_o‘bﬂq(.

6) Fing '\ ok x=e 2§ fcoey =

LofaLleg o) -

45 kant o () = Loawﬂ )

A e 4y g~ :
1 ¥ a—éa EF WY= LoaQT'\:"'i—{)l‘r__ 119

W 94 = sin JSnne

& 9% Y= %%,%e‘w\ then prove thal m.la_‘\ii-an
=

Q) Find dentvarive of Fonowing Runcion:

o 8 = @Eins) e . T ——
OTEMRT Wl =gt o y= o
@ g= W gy ot = ‘

A® diffenentiare ?-o\\awtng W .
L.\b M= Q-t?-) ﬂ:Q_G‘\:)
M A= csecs, Y= brane

W 9 = —Cors \ ‘
ALoBE —Coxak Y= Qsink— singk .

' fing 9 °
i :%L =¥ O PryP=axy @ Y = SINCXY)
Q L5yt Ysinae = || '

—»END ¢
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